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�*���e� � ��¤B� � �*�
¹����%��� �;Ê � £ �0��¨4�!��¸ �?Û@� �e� �   ���P���!£BÖ �e����¤ ���Æx|
Ç4Ç4Ç	É �P�0� £§Ø ���0� �¶� � � ¨,Ü¿� T 2 �e� � ���¶�?���¶�,���4¨4�%���!�
�(«5�¦��� � ��� ��� �?ªn�4�0¤ � ����� � �e�¶¤B� ��� �W���+��� � �:��ª Ã � � �
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Ù �!� � � � � £ÞÆ�|�Ç4ÇC�4É µ!�e�4µ³�4�0� £ß� ¤§� � �0�P�0�²��ªh�0�!� £ ��¹����0� � ���²�³�
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�³��� �I� �P�0�
ªn� � ��� ¥ � � ���P�·� �!£ �
�0�e� ���!£ � � ¨2��ªM���!�·�0�
�0� � ��� ¯·± �!�·��� � � � �!�e�¶� � ���¢��� � �h�%�4� � ��ª:���!�£ ���e���e�¶�!�¡���¶� � ��ª³���!���0���?�M�e� � ���¶�?����� £ �;��� � ��� £ ��µ³� �P£ � � �0�!� £ ���e���e�¶�!�¡���¶� � ��ª³���!�����%��«K��� � �0�P�¡ e�
�
�
µ � � � ¤B�
���
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�0� � ��� £ �
µ³� �P£ �@� � ���!� � �%��� ��� � ��� �!���,��ª"���!�
�³�
��«K�
� � �0�P�¡ e�
�
�#� � �0� � � � �
� ¯

è é �����E� ê����(�9 ��t�I ��  ����������(�9 ��

ë �
� Yij1

���!£
Yij2

£ � � �����Ý�0�!�´�e���eµ³� � �0�²�
� � �P¤ � �4�
�
�0�4�0�§ªn�0�4¤ìµ³���e�¶� £B|²���!£ µ³�
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�5���!� � �!¤��³������ª��0�!�; e���%���$� ���!£ ��¤§��¸�� £ � � ���©�0��¬��!� � ���¾¨4�0���!µ j � j = 1, 2

¯,î �4�0�
�b�4�
� �Q� �
�
n = n1 + n2

Æx|bÉ
£ � � �����h���!�h�0��� ���Ò� �!¤��³�
�#��ª)�0�!�; e���%���$� � ���P�¾�?��� £¡¥ ¯ Ö �!�?���!�
� � �¦�#��� � �0�e�!¤§� £ �0� � �5���!��� ���!£ �4¤
�0�
�0µ³� � �0� p× 2 ¤ � ���e�¦ã (Yij1,Yij2) � ��� ���h�e��µ!�e���0� � �0� £²� �

(Yij1,Yij2) =
(
µj1,µj2

)
+
(
ξij + εij1, ξij + εij2

)
,

ÆA»4É

«5�!�
�0� µj1

���!£
µj2

� �e� � � � � ���P£ �4¤ï�4���%���4�e�5�0�%ðT���%��� � ¨©ÚPã¡� £ �%¹"�
�
�0�5�0�!��� � �K���0� � ��¤B� � ���
¹����%������!£ µ³���e�¶� £ �
¹����%����ñ ξij �¶� � � ���!£ �4¤ò�4���%���4�¾�e�
ðT�
�
�0� � ¨2���!�B�³�%��«K�
� �Þ� �0�!�; e���
�°� � �e� � �P� � ��� ¥ ñ ���!£
εij1

���!£
εij2

� �e�h� ���!£ �4¤â�4���%���4�e�#�0�
ð!���
�0� � ¨·�0�!�+«5���0�!� �ä� �0�P�¡ e�
�
��� � �e� � �P� � ��� ¥ � � � � ���Ýµ³���e�¶� £ ¯
± �!�<� �!��¥Ñ£ �¶�e�0�0���!�P����� �T���'� �0�0�P¤§µP�0�¶� � ¤ ��£ �²� � �0�!�¶�7�0�
µ³�4�e�Å��� � �
��� � ���0�!� n «������P� � �4�
�
�0�4�0�
εij1

���!£
εij2

¯<± �P� ¥à� �e� � �0�e�!¤B� £ �0�=�³�7¤��P��� ���¶�¦¥ � �!£ ��µ³� �P£ � � � ���!£ � �P£ ��µ³� �!£ � � �·��ª5�0�!� nó �³�%��«,����ô��4�
�
�0�4�0� ξij

¯àÕ ���0� =d

£ � � ����� � ¨<��¬�� ��� ��� ¥ � �á£ �¶�e�0�0���!�P����� �E� ���©�¶� � �e�0�!¤B� £ �0� � �©ªn�4�
i = 1, 2, . . . , nj

�
(εij1, εij2) =d

{
(εA, εB), ��ª j = 1

(εB, εA), ��ª j = 2
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«5�!�
�0� εA
���!£

εB
� �e�<� �P£ ��µ³� �!£ � � �Ý¤©� � ���¦� � �0� � �0� � �4�e¤ ���'£ ���e���e�¶�!�¡��� £ �e�0�;��� � �e�0�¶�=� � �0� � � � �
�

«5���0�²¸��
�0�Å¤B� ���=���P£ ����� � �e� ��� ���°¤ � �0�0��ã ΛA �e���eµ³���
�0���4� ΛB

� � ¯ � ¯ εA ∼ Np(0,ΛA)
���!£

εB ∼
Np(0,ΛB)

¯Å± �!�§� �!£ �%ã¡��� A
���!£

B � �!£ �¶� � ���
�h���0� � ��¤B� � ��� ¯ v�� �0���e¤§����ªK���!�
�0�§«5�¦���!� �Þ� �0�P�¡ e�
�
�
����� � �e� ��� ���¾¤ � �0�0�¶�
��� £ �
Ú � �°�0�!�¾¤�� � �0�¦� � �e� � �0� ���T��� ��¨4�4�!� � Γ � �0�§�0�!�¾� � �¦� � �0� � ���h� � � £ �
Ú � � £ � �Ù �!� � � � � £<Æx|�Ç4Ç��	É γ = (σ2

A − σ2
B)/(σ

2
A + σ2

B)

Γ = (ΛA −ΛB)(ΛA +ΛB)
−1 ÆYå�É

�



± �;�P� � Γ ��� � ¤B� � �e�!�0�Å��ª5���!� £ �¦¹"�
�0� � ���Å�³�
��«K��� � ���!�Å����� � �e� ��� ���Å¤ � ���e�¶�
��� ΛA

���!£
ΛB

¯ v ª
ΛA = ΛB

� �0�!� � Γ ��¬�� ��� �����P� p× p
� � �¶� ¤ � �0�0�¦ã 0 ¯

ë �
� Y+
ij

���!£
Y−

ij

�
i = 1, 2, . . . , nj

£ � � �������0�!�5�
� � �P¤ � �4�
�
�0�4�0�:��� � � � � � � � ¨¢«5�¦���!� �Þ� �e�!�; e���%�:�0�!¤B����!£IÆ ­ � ® Éª�Z£ ��¹����e� � �
��� � � ¯ � ¯

Y+
ij = Yij1 +Yij2
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Y−

ij =

{
Yij1 −Yij2, , ��ª j = 1

Yij2 −Yij1, , ��ª j = 2
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Ö �!�?���!�
� � ªn�4� ����¥ ¨����4� � p× p ¤ � �0�0��ã M �!£ �%Ú � � YM

ij

� �
YM

ij = Y+
ij −MY−

ij

Æ��4É
± �!� � �e�0�;��� � ����� � �³�%��«,��� � YM

ij

���P£
Y+

ij

£ ��µ³� �!£ �°� � ���!�B¤ � ���0��ã M �����!£ �0�!�B� £ � � �¶�+���Ý�!�e�
���P�¶� £ ��µ³� �!£ � � ���¾�0�B¤ � Á��+�e� � ���¶�?����� ��� � � ªn���e� � �
� � �³�4�P� Γ ¯
± �!�·�0�!¤õ��ª,�0¬�� � �e��� ���!£ ���0���0� � µ!�0� £ �!�
��¤ � ���0�����
�+�
�4�0�e���0µ³� �!£ � � ¨���� Æ��4É¢���P£ÑÆ�~4É¢� �0� £ �%Ú � � £
� ¥

S−− =
2∑

j=1

nj∑

i=1

(Y−

ij − Ȳ−

.j )(Y
−

ij − Ȳ−

.j )
′,

S−+ =
2∑

j=1

nj∑

i=1

(Y−

ij − Ȳ−

.j )(Y
+
ij − Ȳ+

.j )
′,

«5���0� Ȳ−

.j =
∑nj

i=1Y
−

ij/nj

���P£
Ȳ+

.j =
∑nj

i=1Y
+
ij/nj

¯
S+−

�
SMM

�
S−M

���!£
SM−

� �0� £ �
Ú � � £ � �
���P��� � ¤B�+« �
¥ ¯Mö �%Ú � � Y−

j ���·�³�+���!� p× nj ¤ � �0�0��ã7��� � � � � � � � ¨ ����� ��ª��0�!� Y−

ij ÷ � � � ¯ � ¯

Y−

j =
(
Y−

1j,Y
−

2j , . . . ,Y
−

njj

)

v�� ���!�h�e�¶¤B� ��� �,« �
¥4�T£ �
Ú � �h���!� p× nj ¤ � �0�0��ã Ȳ−

j �0�B�³�+�0�!� ó ¤B� ��� ¤ � �0�0��ã;ô � � ¯ � ¯

Ȳ−

j =
(
Ȳ−

j , Ȳ
−

j , . . . , Ȳ
−

j

)

Ö �!�?���!�
�5� �E�!£ �
Ú � �h���!� p× n ¤ � �0�0������� Y−
���!£

Ȳ−
� �

Y− =
(
Y−

1 ,Y
−

2

) Æ&È	É

Ȳ− =
(
Ȳ−

1 , Ȳ
−

2

)
.
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Õ ���0�Å���!�
�0� £ �%Ú � ���0�¶� � �@«K��� ��� �%ã¡µ!�e���0� S−−

� �
S−− = (Y− − Ȳ−)(Y− − Ȳ−)

′

.

ö �%Ú � � � ¨ Y+ � YM
�
Ȳ+ ���!£

ȲM � � �0�!�h� � ¤B�+« ��¥�� �5� �RÆ&È4É����!£IÆ&Ç	É�� «K��� � �4�
S+− = (Y+ − Ȳ+)(Y− − Ȳ−)

′

,

SMM = (YM − ȲM)(YM − ȲM)
′

,
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S−M = (Y− − Ȳ−)(YM − ȲM)
′

.
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z �����h��� � �#�0�!�¾�0�P¤Ô��ª*���e�4�0� � µ!�0� £ �!�
�'¤ � ���0�����
� � ��� � �0��� ¥ ¤B¤§�%���e�¶�h�!�P�$�0� � � S+− = S′
−+

���!£
SM− = S′

−M

� «5�!�
�0� ′
£ � � ���0���5���!�+�0� ��� �eµ³�4�0�h��ª � ¤ � ���0��ã ¯

ø � ���	�I�t�� 2� ùE�I�'��
 %&�	�����(���

Õ ��� ��� «5�0�¦��� YM

ij

� �
YM

ij = (Γ−M)Y−

ij + Zij + 2ξij,

«5�!�
�0�
Zij = Y

+
ij − ΓY−

ij − 2ξij.
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z ��������� � � � ��� ���P£ �4¤ � ���e�M� � Zij �
�4¤B���(ªn�0��¤ú�0�!�5�³�
��«K�
� � �0�!�; e���%�,� ���!£ �4¤û�%¹"�
�
�0� ξij

� ��¤§µ ��¥R�
� � ¨7�0� � � Zij ªn� �¶� ��«5� � ¤©� � ���¦� � �0� � ��� � ���0¤ ����£ ���e���e�¶�!�P�0�¶� � ¯ z �b« � �³��� � �!�0� Û ��� (Y−

ij ,Zij) = 0
�

Y−

ij

���P£
Zij

� �0�+� �!£ ��µ³� �P£ � � �$¤©� � ���¦� � �0� � �0� � �4�e¤ ��� � � �0� � � � �
� ¯
v �©�¶� � �b«ï�
�;� £ � � �©�0� � ����ª M = Γ �0�!� � Y−

ij

���!£
YM

ij

� �0�7� �P£ ��µ³� �!£ � � � ¯ v �©�¶� ��� �e�²�
�;� £ � � �
��� � ���¦ª M 6= Γ � �0�!� � Y−

ij

���!£
YM

ij

� �0� � ����� �!£ ��µ³� �!£ � � � ¯:± ���!� � ���!� � �e�0�;��� � ����� � �³�
��«K��� � Y−

ij���!£
YM

ij

£ �
µ³� �!£ �°� � �0�!�B¤ � �0�0��ã � M ¯§± �!�§� £ � � ���+���2�!�0�B�0�!�¶� £ �
µ³� �!£ � � ���1� � M ���2¤ � Á��
�e� � �����e�0�¶� ��� � � ªn�
�0� � ��� � �³�4�P� Γ = (ΛA −ΛB)(ΛA +ΛB)

−1
¯

Ö �4�¢�0�!�·¤B�4¤B� � � ��� �0�0�P¤§�©��� � �+���!�·�³�%��«,��� � �0�!�; e���%�¾µ � � � ¤§�%���
�0� � ξij

� �0�©� �!£ ��µ³� �P£ � � �¾¤�� ���
���¦� � �e� � �0� � �4�e¤ ��� «5�¦���<¸
���e�2¤B� ��� �4���%���4� ���!£ �0�4¤B�©µP�0�4µ³�
�h�
�b� � �0� ��� ����¤ � �0�0��ã ¯ z �b« � � �!£ �
�
���P�¶� � �0�e�!¤BµP����� �E� «K�°� ���²£ �
�0�¦�4�¾���!� � �¶Á�� � ���P�;� £ � � �����B�����?�'ªn�4�#���
�e��� � ¨1� �!£ ��µ³� �P£ � � �
�©�³�
��«K�
� �
Y−

ij

���!£
YM

ij

¯ v �K«5� �¶� �³�¢�e�!�b« � � � ���!�
�4�0�
¤ | �0� � �K�0�!� £ ���e�0�0�¶�P�P����� � ��ªÒ�0�!�¶�M�����?���e� � �����e����� £ �;�
�� ��� £ �
µ³� �!£ � � ���P� £ �¶�?���0���!�P����� � ��ª��0�!�h�³�
��«K�
� � �0�!�; e�
�
�$µ � � � ¤B�
���
�0� ¯
Õ ���0�����!� � �4�0¤ ��� �¦� ¥7� �0�0�P¤§µ¡���¶� �2£ ���e���0���³� £²� �����4�h«K��� � �4�h��� � � (Y−

ij ,Y
M

ij )
′ ªn� �¶� �b«5� � ¤�� � �0� �

� � �0� � ��� � ���0¤ ���"£ �¶�?���0���!�P����� �"� � ¯ � ¯
(
Y−

ij

YM

ij

)
∼ N

((
µ−

j

µM

j

)
,Σ

)
, i = 1, 2, . . . , nj j = 1, 2
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Õ �!�
�0� µ−

j

���!£
µM

j

� �0���0�!�°µP�0�4µ³�
�'¤B� ��� �4���%���4�e� ���P£ «5�!�
�0�¾���!�¾����� � �e� ��� ���¾¤ � ���e�¦ã � Σ � ���
�³�hµ � �?�����0�¶� � � £�� �

Σ =

(
Σ−− Σ−M

ΣM− ΣMM

)

z �����5��� � � Y−

ij

���P£
YM

ij

� �0�#� �!£ �
µ³� �!£ � � �K��ª ���!£ � �!��¥ �¦ª M = Γ
Æ
Σ−M = 0

É ¯)Õ �#« ��� �M�����0���e�
H0 ü Y−

ij

���!£
YM

ij

� �0�+� �!£ �
µ³� �!£ � � � Æ Σ−M = 0
É

�4�
�0�e�!�
HA ü Y−

ij

���P£
YM

ij

� �e� � ���#� �!£ ��µ³� �!£ � � � Æ Σ−M 6= 0 É ¯
Æx|�å�É

­ £ �4µP�0� � ¨2�e� ���!£T� � £ ������� � ��¬��!���°�!�e� £ ªn�4� £ �
���
�0¤B� � � � ¨ � �¶Á�� � �¦�!�;� £ � � �������0���e�0�°� � ¤�� � �0�¦� � �0� � �0�� �4�e¤ ��� ¤§� £ � � � Æ �e���¢ªn�4�@��ã � ¤§µ � � w �
�³��� Æx|�Ç�È�å�É0É � � ¤B� £ � �*Æx|u�4É%� �¦�@ªn� �¶� ��«5�,��� � �@�0�!� � �¶Á�� � ���!�;� £
� � ���¶���0���?�#ªn�4�@�0���?��� � ¨ Æ�|
å�É �¶�

Λ̃(M) =
|Σ̂|

|Σ̂−−||Σ̂MM|
,

«5�!�
�0� Σ̂ � Σ̂−−

���!£
Σ̂MM

� �0�+���P� � ��Á�� � ���!�;� £ �
�e�0�¶¤ � ���
��ªn�4�@���!�h����� � �e� ��� ���h¤ � ���0�����
� � Σ̂−− =
S−−/n

�
Σ̂MM = SMM/n

���!£
Σ̂ = (S1 +S2)/n

� «5�!���e� Sj =
∑nj

i=1(yij − ȳj)(yij − ȳj)
′
¯ z ���0�

��� � � (n1−1)S1 ∼ Wp(n1−1,Σ)
���P£

(n2−1)S2 ∼ Wp(n2−1,Σ)
� �e�@� �!£ ��µ³� �P£ � � � ¯ v �*ªn� �¶� ��«5�

��� � � (n − 2)(S1 + S2) ∼ Wp(n − 2,Σ)
� «5�!�
�0� Wp(m,Σ)

£ � � ���0���$���!� Õ �¶�e� � �?� £ ���e�0�0�¶�P�P����� �
«5���0� m £ �
¨4�0�
���#��ªWªn�0��� £ �4¤ ¯ v�� �e�0� ��£ ��ª Λ̃(M)

� «K�h� ��� �%ã¡µ!�e���e�$�0�!� � ��Á�� � �¦�!�;� £ � � �0�¶�����
�e� � �
Λ(M) =

|S|
|S−−||SMM|

.
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À �e� � ¨
|S| = |SMM||S−− − S−MS

−1
MM
SM−|
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���!£ �e�
�e��� � ¨ E = S−− − S−MS

−1
MM
SM−

���!£
H = S−MS

−1
MM
SM− «K�h� � �4�

Λ(M) =
|S−− − S−MS

−1
MM
SM−|

|S−−|
=

|E|
|E+H| .
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� ��� �³�Ý�0� ��£í� �³�4�¡�§���P���0�Ý�0���?���1� � �³�;��Á;�§� � ¤�� � ���¦� � �0� � ��� ���T���¦¥ �e�¶� � �e���Ýªn�4�B��ã � ¤§µ � � w �
���
�Æx|
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(Ȳ−

1 , Ȳ
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�£ ���e���P�0�!� � ¨$ÚPã¡� £ �%¹"�
�
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�0� � � � ��� � �*�¶� � �¢� � �e� ¥R� ���4���*�%¹"�
�
�0� ¯*± �!�¶� � �0�e�!¤BµP����� � ��¤§µ � �¦���
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�0� � �0�!���4���%���4�$��ª*��� � �e� ��� �0� τ ��¬�� ��� �#�0�!� Æ ­ � ® É@£ ��¹����e� � �
�°��ª*�0�!��ÚPã¡� £²£ �¶�0�
�
�#���e� � �0¤§� � �
�
¹����%��� ���!£ ���!�+�4���%���4�#��ª)��� � �e� ��� ��� π ��¬�� ��� �5�0�!� Æ µ³���e�¶� £M|�� µ³�
�0�¶� £2»4É@£ �¦¹"�
�0� � ������ª����!�+ÚPã¡� £
µ³���e�¶� £ �
¹����%��� ¯ ½ ã � �
�7¤�� � ���¦� � �0� � ���Å�e� � ���¶�?���¶� ��� � � ªn�
�0� � ��� � �³�4�P� τ � ��� �³�Ý¤ ��£ �Ý�!�e� � ¨¼���!�
�e� � �����e�0�¶� D £ �
Ú � � £ � ¥
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� �e�5���!�#¤B� ���B£ ��¹����e� � �
���,��ª Æ ���e� � � �
¤B� � � ­ � ���0� � ��¤B� � � ® É �
¹����%���¾� � �0��¬��!� � ���1¨4�0���!µ 1 �0�
�0µ³�
�
���¦�4�§�0��¬��!� � ���1¨4�0���!µ 2

¯ z ��«û«,�
� � �4�h�0� � �

D ∼ Np(τ ,ΣD),
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«5�!�
�0�h���!�h�
�b� � �0� ��� ���+¤ � ���0��ã ΣD ���
ΣD = (1/n1 + 1/n2)Σ−−/4,���!£ �������?���¶¤ � �0� £ � ¥

Σ̂D = (1/n1 + 1/n2)S−−/4(n− 2).
Û � � �e� £ �
�����!� Ø ����� �¶� � � ¨,Ün� T 2 � «5�!�����2� � ���!���5� � �0�h�¶�

T 2 = (D− τ )′Σ−1
D

(D− τ ) .
± �!� �E� «K�h� ��� «5�0�¦��� � (1− α) ��� � Ú £ � � ���¾�e��¨4��� � ªn�4� τ � Cτ � � � ªn� � �
�0�¶� � ��ª D ���!£

S−−

� �
Cτ (D,S−−) =

{
τ : T 2 ≤ p(n− 2)

n− p− 1
F 2

p,n−p−1(α)

}
,
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� £ ��¤ ¯)± �!�¶�M�
� � Ú £ � � ���'�e�
�K� � �,�
�b�4�
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�4�!�e�0�

�
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��«K�
� �Þ� �0�!�; e���
�'µ � � � ¤B�
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Õ � � �b«>�!�0���0�!���0���e� � �0�¢� � ���P���4�e��¤ | �0�Å�
� � �e�0�0�!�%� ��� ��ã � �
� 1 − α ��� � Ú £ � � ���·�e��¨4��� �E� CΓ �ªn�4� Γ = (ΛA − ΛB)(ΛA + ΛB)
−1
¯í± �!���§��� £ � � �Ý� ¥ � � � � � £ � � ¨<¤ � ���0�����
� M ��� � � � �0� � ���

�e� � �����e�0�¶� ���¶��¥ �e�¶¨ � �¦ÚT� ��� ��� � �0�!� α ��� �%�4� �&� � ¯ � ¯

CΓ = {M : Λ(M) ≥ Up,p,n−p−2(α)}.
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� � ξij
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� � � � ���!��¤�� � �0�¦� � �0� � �0�¾� � �e� ¯�­ �+¤B� � ����� � � £ � � �e���
�0�¶� �n� ¯ |4� ���!�°���
�e�h� � �0� £ � � T (.)£ �%Ú � � £ � �àÆA»ä|bÉ ���$��¬��!�¦� ��� � � �$«5�¦���Ý���P�¾�����?�¢� � �e� £ � � Λ(.) � � ���!�¾� � � £ ��¤B� � �e�¶� �T��� � � �0� ¯$Õ �
���!�;�4�0�¢���©µ!�e���0� � �5�0�!�+�0�
�0� � ������ª����!�+�e�¶¤�� �¶� �0��� � �K� � �����e¤§�@��ª T (.) �³��� � �!�e�h���P�¢� �Z£ �¶�?���0���!�P���¦� �
�¶� � � � � ��� � � �¢� � �e� ���!£T� � £ �?� � �0�¶�?���¶� ��� �0��ª¿��« � �0�+«5�!�
�0� � �#�0�!� À ��£ �¶�e�0�0���!�P����� � �¶� � ��� ¯
Õ �5�e�¶¤�� �¶� �0� £ 5000 �e��� £ �¶�
� � � � ���B� � � � � £ � £B»�� �0�!�; e���%���:«5�P�4�0�5�0�
�0µ³� � �e���:«K�
�0�5�0��¤�� ��� ��� £ ªn�e�4¤
���P�©� � ��� � �0� � ���¾� � �0�©��ªM¤B� £ � �@Æ&»4É ¯ v �¢« � � � �0�0�P¤§� £ ��� � �¢�0�!���e��«,���0� � �7ÚPã¡� £ µ³�
�0�¶� £=���!£²� �
ÚPã¡� £ ���e� � �0¤§� � ���
¹����%���©µ!�0�
�0� � � � � ¯ � ¯ π = 0

���!£
τ = 0

¯ Ö �P�e���!�
� � ���!�1��«K�²«5���0�!� � �e�!�; e���%�
� ���!£ �4¤ç� � �e� � � � ��� εA

���!£
εB «,���0� � �e�0�!¤B� £ ���©�³� � �4�0¤ ���³£ �¶�?���e�¶�!�P�0� £ «5���0�Å�%ã¡µ³�
�
� � ���¶� � ¸
���0����!£ � � �0� ��� �
�1� � � � � ¯ � ¯ εA ∼ N(0, 1)

� �¾«K� ���K� � εB ∼ N(0, 1)
¯´½ � ���Ó�0�!�; e���%��« � �°¨4���4� �à�

�0��¤�� ��� ��� £ � ��� �!�7��ª (εA, εB)
¯R± �P� ¥ «,���0� ��� �e�=¨4�¦�4� � ªn�4�!���0��¤�� ��� ��� £ � ��� �!���©��ª#�0�!�Å�³�
��«K�
� �

�0�P�¡ e�
�
�Bµ � � � ¤B�
�0��� ξij ¯R± �;�P� � � � ���á�0�!�; e�
�
�B¨4�%����ªn�4�!���0��¤�� ��� ��� £ �0�
�0�·��ª (Yij1, Yij2)
� «5�!�
�0�

���P��� ��� �!���#� � �0�!��«5���0�!� � �0�P�¡ e�
�
�'� � �0� � � � �
� � �0�hÚPã¡� £ � � ���P��ªn�4�!�#�0�%��� ¯5± �;�!� � �0�!�¾� �P��¥ ���!� � ¨£ �¦¹"�
�0� � ¨©�³�
��«K��� � ���!�h�e�
��� � �0�+�0�!�+� ��� �!���5� � ξij ¯:± �P�hªn� �¶� ��«5� � ¨�� � �e��� � �0�+��� � �0� £ ���0� £ ü

• z �4�0¤ ����| ü ξij ∼ N(0, 10)
¯*± � � �,���(«5�!� � ξij �¶�:�e�¶¤�� �¶� �0� £ ªn�e�4¤ú�0�!� � ���0¤ ���!£ �¶�?���e�¶�!�P�0�¶� �

«5�¦����¸��
�0�B�%ã¡µ³���%� � �0�¶� �Ý���!£ � � �0� ��� �
� |u� ¯

• z �4�0¤ ���Ò» ü wP� ¤B� � � ó z �4�e¤ ���&| ô¢�!�P� � �%«Þ� ���!£ ��¤ � �!¤��³���e� � ξij ∼ N(0, 10)
¯

• Û � � �e� ��� � ü ξij = 0
�
i = 1, 2, . . . , nj

�
j = 1, 2

¯

• ½ ã¡µ³� � � � �0� ��� ü ξij = Xij − 1
� «5�!�
�0� Xij ��� ��� ��ãPµ³� � � � ��� ���E£ �¶�?���0���!�P�0� £ � ���!£ �4¤ï� � �e� � � � �

«5�¦�����%ã¡µ³���%� � �0�¶� �n| ¯

± �!�ÅÚT�e�e�©��«,�¼� � �0�
� � ó z �4�0¤ ���Ë| ô ���!£ ó z �4�0¤ ���@» ô � �
� � � � � � �����P��� � ¤§� � �4�0¤ ���,£ ���e���e�¶�!�P�0�¶� �
«5�!�
�0�����P�h� � �0� ��� �
����� ��� �e¨4�+����¤§µ � �0� £ ���·���!�h� � �0� ��� �
����ª����P�h«5�����P� � �0�!�; e���%�$� � �e� � � � ��� ¯M± �!�ó Û � � �e� ��� �?ô � � � �0�¾� ��� �³�°�e��� �¼� �$��ª*�¶� � �1�³�
��«K��� � �0�!�; e�
�
�¢� � �e� � ���¶� � µ!�e���e� � � � � ¯ ���0�!�°�³�
��«K�
� �
�0�P�¡ e�
�
�'� � �0� � � � �
� � �e�¾�
� � �e� ��� �'�
¬;� ��� �0�1¸
���e� � ξij = 0

� ªn�4� i = 1, 2, . . . , nj
�
j = 1, 2

¯ Ö � �T�����¦¥��
���P� ó ½ ã¡µ³� � � � ��� ��� ô � � � �0�²�e��µ!�e���0� � �0� � �e�!�
«,� £ £ ���e�0�0�¶�P�P����� � «5���0�æ�0�!�<� � ¤§�²� � �0� ��� ��� � �7���!�
«5���0�!� � �0�!�; e�
�
�#� � �e� � � � ��� ¯
½ � ���²�?��� £¡¥ ¨����4���#�0���0�h���Bªn���!�5���
�e�'�e� � �����e�0�¶��� � � � �hªn�4�#� � ���²� � �0�¾��ª ξij ¯@± �;�!� � ���!���0�¶¤�� �¶� �0��� �
¨4�¦�4���$�!� �����C� ¬;� ��£ �0�Pµ � �
�¢��ª*�����?�¢�e� � �����e�0�¶��� ¯ v��²Ö �¶¨��!�0� | «K�°�e�!�b«G�0� � �0�0���'µ � ����� � «5�!� � ���!�
�0�� �e�¾µ � ���e��� £ µ � ���e«5�¶�e� � ¨ � � � �e�#� � ���²�����!�
� ¯ Ö �¶¨��!�0� » �e�!�b«5�'�P�¶�e�0�4¨4� � ¤B�5��ª)�0�!� �����C� �0�¶¤�� �¶� �0� £
���
�e�¾�e� � ���¶�?�������+ªn�4�h� � ���I��ªK���!�·ªn�4�P��� � �0�
� ¯Å± �!�§µP�0�4� � �!� � �¦� ¥²£ � � �0�¦� ¥ ªn� � �
����� � ��ª w �0� £ � � � ÷ ���£ ���e���e�¶�!�¡���¶� � «5����� n − 3

£ �
¨4�0�
���+��ª(ªn�e��� £ �4¤ ���'� � � � � £ � £=� � � �e�
ªn�
�0� � ���©���P�e�4�©� � � � ���<��ª(���!�
ªn�4�!���!���e�0�4¨4� � ¤§� ¯
Õ �hÁ � �b« ªn�0�4¤ï���P���4�e��¤ | �0� � ���0�!�+�0���e�#�?� � �0�¶�?���¶�'ªn� �¶� ��«æ���!�+� � ¤B� £ ���e���e�¶�!�¡���¶� � «5� � �0�
�4�������!�
� �!£ ��� �¦¥ � � ¨ £ �¶�e�0�0���!�P����� � �¶�:� � ���!�$�³�%��«,��� � �0�!�; e�
�
�K� � �0� � � � �
� ξij ¯*± �!�4�!¨�� � «K�$�0�
�'� �1Ö ��¨4�!�e� |
��� � ���0�!�+� ��� �P������ªW���P�+�0���e�5�e� � �����e������� £ �
µ³� �!£ � � ���!�¢� ��� �!������ª����!�+�³�
��«K�
� � �0�!�; e���%�#� � �0� � � � � ¯
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Ö �¶¨��!�0� | ün� ��Í�ÌYÌ�Ë � *³Î � Ì"� �5� Ì"�TË��&�">M%¡Î¦Í�Ì�Ë:/hÌ�Ë��%Ì���ÌZÍ�Ì����%Ì ������ÏG��� �
� >BÍ�ÎA�A�:Í.!0/���� �
� >BÍ�Î
� �D�"!0/.���0Í�Ì�Ë$Ì"�PÍ�Ì*Ì"�QË{6%Ë%Ì ) Ë�Ë&!��&%c6 B
Ë��%Ì $ Í � �YÍ�6�Î�Ë����

ξij
�:Í � Ëy�&�">M%;Î¦Í�Ì�Ë:/ � �N� >âÍM! �
� >BÍ�Î

/.���%Ì � ��67%;Ì � � !c¡¢�d£ � !c�%ÌAÍ¤!!Ì:�G�"!0/.����Í�Ì�Ë��·Ì(�PÍ�Ì$Ì"�TË&J=Í � Ë;� � !c�%ÌAÍ.!TÌhË:¥7%PÍ�Î¿ÎKJÝÌ ��¦ Ë �N� ¡hÍ.!0/
��§©¨�* � !"Ë&!TÌ��YÍ�Î(�$Ì"�PÍ�Ì�Ì"�TË&J2Í � ËL� �">�%;Î¦Í�Ì�Ë:/ � ��� >òÍ.!àËW¨�* � !"Ë&!TÌ��YÍ�Îl/.���%Ì � ��67%;Ì � � !c�ª�YÏYË�ÏBÍ
���TË ) Ë:/�/.���%Ì � ��67%¡Ì�� � !³Ï

v ª)���!�
�0��«K�
�0� � �§�0�!��� £ ��µ³� �!£ � � ��� � ���!�hªn�4�!�5�0��¤©� ��� �0� £ ���
�e�'�e� � �����e�0�¶�
�5«K��� �¶£ � � �4�¾¨4� � ��� � ��� £
���P�'� � ¤§�#� ��� �!�$� � �0�!�$�0���?�@�e� � �����e�����5ªn�4� ���¶� 5000 �e��µ³�
�0���0�¶� � � ¯ Ê ��¤B��¤��³�
�M��� � �,���P�'� �!�¦¥ ���!� � ¨£ �¦¹"�
�0� � ¨¾�³�%��«K�
� � ���!�#ªn�4�!�M�0���e�K�e� � ���¶�?���¶�
�,���M�0�!�$� ��� �!�
�K� � ���P�'�³�
��«K�
� � �0�!�; e���%�@� � �0� � � � �
� � ξij ¯½ �4� � ���!���!¨4�²«K� � ��� � ���
���0� � � ¥ �e� � ���=�0�!��� � ¤B� £ ���
�¶�0��� � ªn�0�4¤Ô�0�!�°ªn�4�!�$���
�e�+�e� � �0�¶�?���¶�
� � �0�!� ¥
ªn� ��� ��«Ñ���P�¢� � ¤B� £ ���e�0�0�¶�P�P����� � ¯�± �!���K�¶�,�e��� � � � �0�!�'�!���e����¨4� � ¤B�M� �1Ö �¶¨4�P�0� »¡� «5�!�
�0�'«K�'�0���$��� � �
���P� £ ���e�0�0�¶�P�P����� � ��ª(���!�°ªn�4�!�$�����?�h�e� � �����e�0�¶���$ªn� ��� �b«5�#���!�°� �Z£ �¶�?���0���!�P�0��� � «5�¦��� n − 3

£ �
¨4�0�
���h��ª
ªn�0�
� £ ��¤ ¯
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Û � � �e� ��� � ½ ã¡µ³� � � � �0� ���

Ö �¶¨��!�0� » ü;« ���%Ì � # � Í.>�� �d� Ì(�TË¬�&�">M%¡Î¦Í�Ì�Ë:/=Ì�Ë��%Ì]�%ÌZÍ�Ì����%Ì ������ÏZC&!ÐË0Í����Z�����%Ì � # � Í.>�� ) Ë
�PÍ $ Ë�Í�Î­� � *³Î � ÌYÌ�Ë:/+Ì(�TË4* �N� 6�Í�67�¿Î®�¿Ì J+/;Ë&!c�&�¿Ì J � %?!��%Ì�� � ! �d� � Ì�%c/;Ë&!TÌ E �KÌ4/.���%Ì � ��67%¡Ì�� � ! ) �¿Ì"�
n− 3

/;Ë�# � Ë�Ë�� �d�n� � Ë�Ë:/ � >ÔÍ
�¾Í � Ë � Ë � Ë&!���Ë¢�&% � $ Ë�Ï

± �!� £ ���
�¶�e�¶� �t£ � � « � ªn�0�4¤ � �����?�7�e� � �����e����� £ �
µ�� �!£ � � ���!�2� ��� �!���§� � ���!�´�³�%��«,��� � �0�P�¡ e�
�
�
� � �0� � � � �
� � �!�P�����!� £ �¶�?���0���!�P�0�¶� � � � ���!�1�����?�·�e� � �����e����� £ �;��� � ��� £ ��µ³� �P£ � � ���P� £ �¶�?���e�¶�!�P�0�¶� �
� � ���P���³�
��«K�
� � �0�!�; e���%�§µ � � � ¤B�
�0���e� ¯Ó± �!� £ �
µ³� �!£ � � ���Ý�³�%��«,��� � ���
�e�B�?� � �0�¶�?���¶�
� £ ��µ³� �P£ � �
���P�Ý�0� ��� �0�¶� � �³�
��«K�
� � �0�!�2«5���0�!� � �0�P�¡ e�
�
�1� � �0� � �!� � �¦� ¥à���!£ �0�!�Ý�³�
��«K�
� � �e�!�; e���%�1� � �e� � �!� � �¦� ¥ ¯w ¤ ���¶� «5�����P� � �0�P�¡ e�
�
�5� � �0� � �!� � �¦� ¥ �
�4¤Bµ � �0� £ ���·�³�%��«,��� � �e�!�¡ e�
�
�5� � �e� � �!� � ��� ¥ ¨�� � �
� � �0��� ��� ¤B�4�?�
� �P£ ��µ³� �!£ � � �$�e� � �����e������� Æ �0��� Ö �¶¨4�P�0� |bÉ ¯

|
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é ê2ê¼�	 ���� ¯Z°p±G%&���L²<�L²4�����ÿ��%Ð�	� �

P �
���	QN�
Æ&�	É

v ª¢«K�´� ��� �e�!�b« ��� � � E ∼ Wp(n − p − 2,Σ)
�
H ∼ Wp(p,Σ−−)

���!£ ��� � � E ���!£
H

� �e�
�e� � �����e�0�¶� ���¶��¥ � �!£ �
µ³� �!£ � � � � �0�!� � ���@ªn� �¶� �b«5�K�0� � � Λ(Γ) = |E|/|E+H| ∼ Up,p,n−p−2

¯MÀ �0� � ¨©���!�
�%ã¡µ!�e���e�0�¶� � � Æ�|u�	É@���!£RÆx|C|bÉ «,��� ��� �%ã¡µ!�0�
�0� H � � �0���0¤B�5��ª Y−

� ��ªn� �¶� ��«5� �

H = S−MS
−1
MM
SM− =

= Y−(YM − ȲM)
′
[
(YM − ȲM)(YM − ȲM)

′
]−1

(YM − ȲM)(Y−)
′

=

= (Y−)A(Y−)
′

.

Ø �
�0�+«K��� � �4� £ �
Ú � � £ ���!� p× p ¤ � �0�0��ã A � �
A = (YM − ȲM)

′
[
(YM − ȲM)(YM − ȲM)

′
]−1

(YM − ȲM).

± �;�P� � A ��� � � � � � �¾� �!�¦¥ YM
¯ ë �
�°ªn�4�����P�7¤B�4¤B� � � YM

���!£ �0�;�!� ��� �0� A �³�§ÚPã¡� £ ¯²Õ �P� �
H0 �¶�����0�P� � ÚPã¡� � ¨ YM

£ �;��� � ���'� � ðT�!� � �
�¾�0�!� £ ���e���e�¶�!�¡���¶� � ��ª Y− �³�
� � �P�0� Y−
���P£

YM
� �e�

� �P£ ��µ³� �!£ � � � ¯M­ ���!�
�4�0�
¤ � � ¤�� � �0�¦� � �e� � �0�¢�?� � �0�¶�e�0�¶�
��� ��¥ �5�0� � �5��ª A �¶��� £ ��¤Bµ³����� � � � ���P� �

(Y−)A(Y−)
′ ∼ Wp

(
k,Σ−−,µ

−A(µ−)′
) ÆA»²~	É

Æ �e���'ªn�4�,��ã � ¤Bµ � � ­ � � � ��£=Æx|�Ç�È{|bÉeÉ ¯ Ø �
�0� � µ−A(µ−)′ �¶�M���P� � � � �
� � �0� ��� ��� ¥ ¤ � �0�0��ã�ñ µ−
£ � � ���0���

���P����ã¡µ³���
�0� £ ¤§� ��� ¤ � ���0��ã7�
�4�0�e���eµ³� �!£ � � ¨·��� Y−
� � ¯ � ¯

µ− = (µ−

1 ,µ
−

1 , . . . ,µ
−

1 ,µ
−

2 ,µ
−

2 , . . . ,µ
−

2 );

���!£ Á¼�¶�����P�7� ��� Á¼��ª��0�!� A ¤ � �0�0��ã ¯ A �¶�¾� £ �
¤§µ³����� � �°�³��� � �!�0� A2 = A
¯²± �!�7� ��� ¨²��ª A

��¬�� ��� �Ò�0�!�:� ��� ¨5��ª YM
� «5�!������� � �Ò�0�!�:� ��� ¨ p Æ «5���0�hµ!�e�4� � �!� � �¦� ¥I|bÉ ¯W± �!� � � � �
� � �0� ��� ��� ¥ ¤ � ���e�¦ã �

µ−A(µ−)′
� �
¬;� ��� �,���!� � � ��� ¤ � �0�0��ãB�³��� � �!�0� µ−(YM− ȲM)

′

= 0
¯ w �°ªn�4�,ÚPã¡� £ A � H ªn� �¶� ��«5�

���P�:�
� � ��� ��� Õ ���0� � �?� £ �¶�e�0�0���!�P����� � «5����� p £ ��¨��0�
���W��ª;ªn�0�
� £ ��¤ � � ¯ � ¯ H ∼ Wp (p,Σ−−)
¯ w � � ���*�0�!�¶�£ ���e���e�¶�!�¡���¶� �°£ �;�
� � ��� £ ��µ³� �P£ � � YM

�
H �¶�)� � ��� �!£ ������� �T���¶��¥ Wp (p,Σ−−)

���!£ � �!£ ��µ³� �P£ � � �M��ª
YM

¯WÕ �!� � H0 : Σ−M = 0 ���Ò�0�0�!� � YM
���!£

Y−
� �0�:� �!£ �
µ³� �!£ � � ���
��� � �¦ª;«K�M� �P��¥+� �e�0�!¤B�(��� � �

���P�¢�³�
��«K��� � �0�P�¡ e�
�
�5µ � � � ¤B�
�0���0� � ξi

� �e�¢� �!£ �
µ³� �!£ � � �5��ª��0�!�'«5���0�!� � �0�P�¡ e�
�
�5µ � � � ¤B�
�0���0� � εij1���!£
εij2

¯(± �!�¶��¤B� ��� ��� � � H ∼ Wp (p,Σ−−) �!� ��£ �@«5�¦��� � � £ �¶�?���0���!�P�0�¶� �T���"� �0�0�P¤§µP�0�¶� � ¤ ��£ �
� � ξij

¯ v�� µ � �e�0�¶�
� ��� � � ���!� ¥2� �e� � ��� � �e�0�!¤B� £ ���·�³��� �!£ �
µ³� �!£ � � �$�4��� £ � � ���¶� ���¶��¥1£ �¶�e�0�0���!�P��� £ ¯
± �!�7� � ¤B� � �0¨��!¤B� � �°� ��� ���7�P�0� £ ���²�0�!��«ï�0� � � E ∼ WT (n− 2− T,Σ−−) �!� ��£ �¾«5���0� � �£ ���e���e�¶�!�¡���¶� �T���"� �e�0�!¤BµP�0�¶� � ¤ ��£ � � �³���P� ξ ¯ ë �%� b1 �³�h�0�!� n× 1 �4�
�
�0�4� �

b1 = 1/
√
n1(1, 1, . . . , 1, 0, 0, . . . , 0)

′,
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� � «��!�¶�������!�
�0� � �0� n1

� � � ¸��
�0�B� � ��¤B� � �0� ¯:ö �
Ú � � b2 � � ���!�h�0��¤§� �¶� �,« �
¥4� � ¯ � ¯

b2 = 1/
√
n2(0, 0, . . . , 0, 1, 1, . . . , 1)

′,

�!�P�#�P���0�+«5���0� n2
� � � ¸��
�0�§� � �
¤§� � �0� ¯ z �b« � «,��� ��� «5�0���0� Ȳ−

� �
Ȳ− = Y−(b1b

′

1 + b2b
′

2)

À �e� � ¨©��� � �����!� n× n ¤ � ���e�¦ã b1b
′

1 + b2b
′

2 ����� ¥ ¤§¤B�%���0��� � «K��� ��� �%ã¡µ!�e���0� S−−

� �
S−− =

(
Y− − Ȳ−

) (
Y− − Ȳ−

)′
=

= Y−
(
I(n×n) − (b1b

′

1 + b2b
′

2)
)
(Y−)

′

,

«5�!�
�0� I(n×n) ���@���!� n× n � £ � � ���¦� ¥ ¤ � ���e�¦ã ¯)Õ �¦���Å���!��� � ��� � ���¶� �E� E � ��� �³�h�%ã¡µ!�e���0�e� £=� �
E = S−− − S−MS

−1
MM
SM− =

= S−− −H =

= Y−
(
I(n×n) − (b1b

′

1 + b2b
′

2)
)
(Y−)

′ −Y−A(Y−)
′

=

= Y−
(
I(n×n) − (b1b

′

1 + b2b
′

2)−A
)
(Y−)

′

=

= Y−B(Y−)
′

,

«5�!�
�0�h«K�h� � �4� £ �
Ú � � £ ���!� p× p ¤ � ���0��ã B � �
B =

(
I(n×n) − (b1b

′

1 + b2b
′

2)−A
)
.

± �!��� ��� Á1��ª B �¶� n− 2− p
���!£ �0�B�e�!�b« �0� � � B ����� £ �
¤§µ³���0� � ��«K�h�!�0�h�0�!�+ªn� �¶� ��«5� � ¨°ª � �
�0�

A2 = A

(b1b
′

1 + b2b
′

2)(b1b
′

1 + b2b
′

2) = (b1b
′

1 + b2b
′

2)

(b1b
′

1 + b2b
′

2)(Y
M − ȲM) = 0

(YM − ȲM)
′

(b1b
′

1 + b2b
′

2) = 0.

± �!� � � � ��� � �0� ��� ��� ¥ ¤ � �0�0��ã � µ−B(µ−)′ = 0 �³�
� � �!�0�
µ−I(n×n)(µ

−)′ = µ−(b1b
′

1 + b2b
′

2)(µ
−)′

���!£
µ−A(µ−)′ = 0

¯(­ �0¨4�P� � ¨ � �,�³�
ªn���0�'�e�!�b«5�,��� � � E ∼ Wp (n− 2− p,Σ−−) �!� �¶£ �M«5���0� � �£ ���e���e�¶�!�¡���¶� �T���"� �e�0�!¤BµP�0�¶� � ¤ ��£ � � �³���P�5�0�!� ξ ÷ ��«5�!� � H0 �¶�@���e�!� ¯
v �h�e��¤ � � � �'���Å�0�!��« ��� � � E ���!£

H
� �e�©�?� � �0�¶�e�0�¶� ���¶��¥ � �!£ �
µ³� �!£ � � �h«5�!� � H0 ���¢�0�0�!� ¯¾Õ �©�!�e�

���P�h�0�
�0� � �5ªn�e�4¤ ¤�� � ���¦� � �0� � ���'�e� � �����e�������K��� � �5� ��¥ � ü ó ���P� Õ ���0� � �e��� � �0� � � � �
� YAY′ ���P£
YBY

′

� �e�'� �P£ ��µ³� �!£ � � ����ª ���!£ � �!��¥ ��ª AB = 0 ô Æ �0���$ªn�4�,�%ã � ¤Bµ � � ­ � � � �¶£²Æx|�Ç4ÈÞ|bÉ0É ¯ w � � E ���!£
H
� �0�

� �P£ ��µ³� �!£ � � �$��ª ���!£ � �!�¦¥ �¦ª BA = 0
¯(± �;�!� � E ���!£

H
� �0�+� �!£ ��µ³� �P£ � � �$���
� � �!�0�

(b1b
′

1 + b2b
′

2)A = 0

|u~



���!£
A2 = A

¯
Æ � Éö �%Ú � � Cij

� �
Cij = (Zij − Z̄j) + 2(ξij − ξ̄j),

«5�!�
�0� Zij ��� £ �
Ú � � £ � �àÆ�|b»4É5���!£ ���$� �!£ �
µ³� �!£ � � �+��ª Y−

ij

¯$± �;�!� � ���P� Y−

ij ÷ � ���P£ ���!� Cij ÷ � � �e�� �P£ ��µ³� �!£ � � � ¯ ë �%� Cj �³���0�!� p × nj ¤ � ���0��ãÝ��� � � � � � � � ¨1�0�!� Cij ÷ �¢ªn�e�4¤º�0�0� � ��¤B� � �+�0�
¬��!� � ���
j
� � ¯ � ¯

Cj = (C1j,C2j, . . . ,Cnjj), j = 1, 2.

Ö �!�?���!�
� �T� �
�
C = (C1,C2).

Õ ���0�¢���!��� � ��� � �0�¶� �E� «,�:� ��� ��ã¡µ!�0�
�0�����!�(�e�!¤ ��ª¡�e¬;� � �0�
� ���!£ �
�0���0� � µ!�0� £ �P�
�W¤ � ���e�¶�
��� S−−,S−M,SM−���!£
SMM � � �0���e¤§����ª Y−

�
Ȳ−

���!£
C
� �

S−− = (Y− − Ȳ−)(Y− − Ȳ−)
′

S−M = (Y− − Ȳ−)(Y− − Ȳ−)
′

(Γ−M) + (Y− − Ȳ−)C
′

SM− = (Γ−M)(Y− − Ȳ−)(Y− − Ȳ−)
′

+C(Y− − Ȳ−)
′

SMM = (Γ−M)(Y− − Ȳ−)(Y− − Ȳ−)
′

(Γ−M) + (Γ−M)(Y− − Ȳ−)C
′

+

+C(Y− − Ȳ−)
′

(Γ−M) +CC
′

.

± �!�h�0���?�$�?� � �0�¶�e�0�¶�¢� �!£ �
� H0

� ���@«5�����Å���P���0� � ��� � �0�¶� � �

Λ(Γ) =
|(Y− − Ȳ−)C

′

(CC
′

)−1C(Y− − Ȳ−)
′ |

|(Y− − Ȳ−)(Y− − Ȳ−)′ | .

± �;�P� � �0�!�´�0���e�Å�?� � �0�¶�e�0�¶�Ý��� � ªn� � �
�0�¶� � ��ª+���!�²� ���!£ �4¤ � � �0� � � � ��� Y−

ij

���P£
Cij

¯ ­ �
���4� £ � � ¨
���Å�0�!� � �0�0�!¤BµP�0�¶� � �+¤ ��£ �©� � � � ����� � ���P� Y−

ij ÷ �+ªn� ��� ��« � ¤�� � ���¦� � �0� � ��� � ���0¤ ���)£ ���e���e�¶�!�P�0�¶� �=���!£� �e�°� �!£ ��µ³� �!£ � � �+��ª*���!� Cij ÷ � � «5�!�
�0� � �¢�0�!� £ �¶�?���e�¶�!�P�0�¶� � ��ª*���P� Cij ÷ �'���$� � Á � �b« � ¯ Ø ��«K�
�4�
� �«K�©Á � ��« ªn�e�4¤º�0�!��µ!�0�;��ª:��ª Æ&�	É ��� � �¢���!����� �!£ ���0�¶� �!���W£ �¶�?���e�¶�!�P�0�¶� � ��ª Λ(Γ) ¨4���4� � C � � �¢���P�
� � ¤§� £ ���e���e�¶�!�P�0�¶� �á� �·���!�2� � ��� �P£ ���0�¶� �!���@£ ���e���e�¶�!�P�0�¶� �E� � ¯ � ¯ Λ(Γ)

� �©«K� ���#� � Λ(Γ) ¨����4� � C
ªn� ��� ��«5� ��� U ��£ ���e���e�¶�!�¡����� �"� Λ(Γ) ∼ Up,p,n−p−2

¯(® �
� � �!�e�¢�0�!� £ ���e���e�¶�!�¡���¶� �§£ �;��� � ��� £ ��µ³� �!£ � �
���P�hµ � � � ¤B�
���
�0� � (µ−,Σ−−)

� �0µ³�
����ª ¥ � � ¨©���!� £ �¶�?���e�¶�!�P�0�¶� � ��ªW���!� Y−

ij ÷ � � �¦�@ªn� �¶� ��«5�Kªn�0��¤ ® � �0�!� ÷���P���4�e��¤ Æ �0�
�¾ªn���#��ã � ¤§µ � � ë �
�!¤ ���!�ÓÆx|�Ç�Ç{|bÉ0É ��� � � Λ(Γ) �¶�5��� �!£ ������� �T�����¦¥ � �!£ �
µ�� �!£ � � �'��ª)���P�
�0�¡ä§�
�¶� � ���?� � �0�¶�e�0�¶�©ªn�4� (µ−,Σ−−) ¨4���4� � C ¯2­ �0�PäB����� � ���e� � �����e�����·ªn�4�h���P�1¤B� ��� �4�
�
����� ���!£
���P�¾�
�b� � �0� ��� ���h¤ � �0�0��ãÅ� � �0�!��¤©� � ���¦� � �0� � �0� � �4�e¤ ���E£ ���e���e�¶�!�¡���¶� � ���#��ª)���4�P�0�0� (Ȳ−

1 , Ȳ
−

2 ,S−−)
�

«5�!�����2��� � ªn� � �%����� � ��ª��0�!� Y−

ij ÷ � ¯:± �;�!� (Ȳ−

1 , Ȳ
−

2 ,S−−)
���!£

C
� �0�+� �!£ ��µ³� �P£ � � � ¯

± �!�(ª � �
�E��� � � Λ(Γ) ���E��� �P£ ���0�¶� �T��� � �P£ ��µ³� �!£ � � �W��ª (Ȳ−

1 , Ȳ
−

2 ,S−−) ¨����4� � C ���!£ ��� � � (Ȳ−

1 , Ȳ
−

2 ,S−−)���!£
C
� �0�'� �!£ ��µ³� �P£ � � � � �¶¤Bµ �¦¥ ��� � � (Ȳ−

1 , Ȳ
−

2 ,S−−)
���!£

(Λ(Γ),C)
� �0�'� �!£ �
µ³� �!£ � � � ¯ Ê �
� �����

|Ó�



��� � �����!�+��� �P£ ���0�¶� �T����£ �¶�?���0���!�P����� � ��ª Λ(Γ) ¨4�¦�4� � C � � �����!�+� � ¤B� £ ���e���e�¶�!�P�0�¶� �Å� ���0�!�h� � �
� �Þ�£ �¦���¶� �T��� � � � ¯#± �!���$¤§� ��� �0� � � Λ(Γ) ���P£ C � �0�¾� �!£ �
µ�� �!£ � � � � � ¯ � ¯ (Ȳ−

1 , Ȳ
−

2 ,S−−)
���P£

Λ(Γ)� �e�h� �P£ ��µ³� �!£ � � � ¯ Æ � ÉÀ �e� � ¨ Æ���É ���4¨4�%���!�
��«5���0� Æ�|C|bÉ «,���0�
�h��� � � S−M � ��� �³�h«5�e���e��� �2� �
S−M = S−+ − S−−M

′
ÆA»��4É

± �;�P� � �!�e� � ¨©��� � � S′+−
= S−+ «K�h� � �4�+ªn�4� M∗ = S+−S

−1
−−

S−M∗ = S−+ − S−−(S+−S
−1
−−

)′ =

= S−+ − S−−S
−1
−−
S−+ = 0

���!£ �¦��ªn� �¶� �b«��@�0� � � Λ(S+−S
−1
−−

) = 1
¯

ÆY£TÉ
w �%� M− = S+−S

−1
−−
−A ���P£

M+ = S+−S
−1
−−

+A
¯(± �!� �E� �³�
� � �!�0�¾��ª ÆA»��4É «K�h� � ���

S−M− = S−−A = −S−M+ .
Æ&»�È	É

î �4�e�����4��� � �!�0� � ¨ Æ��4É ����¨4�
�0�!����«5�¦��� Æx|u�4É «K�h� � �4�
SM+M+ = SM−M− = S++ +AS−−A

′.
Æ&»�Ç	É

± �;�P� � �!�e� � ¨ ÆA»�È4É@���!£IÆA»�Ç	É � � ���!�h�%ã¡µ!�e���e�0�¶� �ÓÆ�|�È	É ��ªW���P�h�0���?�$�?� � �0�¶�e�0�¶� Λ(M) «K�h�0�
�h��� � �
Λ(S+−S

−1
−−
−A) = Λ(S+−S

−1
−−

+A),

� ¯ � ¯ Λ(M) �¶��� ¥ ¤B¤B�
�0�0�¶� � �0��� �!£ S+−S
−1
−−

¯

|�È
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­ �P£ ���e�0� �E� ±+¯³ÕG¯ Æx|
Ç4È�å�É ¯]´ !Z�"!TÌ �N� /.%��%Ì � � !<Ì � >M%;Î�Ì � $ Í � �YÍ�Ì�ËF�%ÌAÍ�Ì ���%Ì����0Í�Î)Í.!³Í�ÎKJ9�&��� ¯ Ã �4� � Õ � � � ¥µ w � � � �ëv�� � ¯
­ � � � ��£E��w ¯ Ö ¯ Æx|�Ç4ÈÞ|bÉ ¯ ���TË°Ì"�TË �I� J �d� ÎK�"!"Ë0Í � > � /;Ë%Î­�©Í.!0/�>M%¡Î�Ì�� $ Í � �YÍ�Ì�Ë©Í.!³Í�ÎKJ¶��Ë�� ¯ Ã �4� � Õ � � � ¥µ w � � � �ëv�� � ¯
® � �?� � �
�0� � îR¯ w ¯ Æ�|�ÇC�4È4É ¯ Ö �!�e���P��� � �0µ³���%���W��ª;���P�(�0�!����� ¥ ��ª¡¤�� � ����µ � �)�0�
¨4�0�
�0�0��� � ¯�· �N� ��Ï�£:Í.>¬6 � ��/9#;Ë

· ���¿ÎK����Ï � � ��Ï¶�	¸A¹��*�C�9º;åR� ¯
Ù �0� �P£ ��� �PÃ ¯�îR¯ ���!£1Ã �4� � �0� �"� ÕG¯�ö°¯ Æ�|�Ç4ÇC�4É ¯³­ �T���¦¥ �e�¶�(��ª����0���0�0���4��� £ ���e�¶¨ � �:«5�¦���·¤�� � �0�¦� � �0� � �0�
�0�
�0µ³� � �0� ¯ � ÌZÍ�Ì����%Ì������F�"!»>7Ë:/.���&�"!"Ë%� 
�¼ �ë~4Ç¶º¡È�Ç ¯

Ù �!� � � � � £"� ÿ�¯ Æ�|�Ç4ÇC�4É ¯T½ ã � �
�:� � ªn���e� � �
� � �³�4�¡�*���!�K«5���0�!� �ä� �0�P�¡ e�
�
�*� � �0� � �!� � �¦� ¥ � � 2×2 ���e�4�0�e�b�4�
�
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Ã � � �
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× � �0� �&�ÒØ ¯ v ¯ ���!£<Ø � � � � � � ½�¯�î¼¯ Æ�|�Ç4ÈC�4É ¯�î � � ����� � �0� � �0� ���T����¥ �0���'ªn���'�0�!����«K� � µ³���e�¶� £ �0�
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